Riemanuv integral pomoci limit:

[ > with(student):

[ > with(Student[ Cal cul usl]):

> f:=x->x"2;

> leftbox(f(x),x=0..4):
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>t ght box(f (x), x=0..4);
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S i:=leftsum(f(x),x=0..4);

eval a(val ue(S_i));
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S s:=val ue(rightsum(f(x),x=0..4,n));

4(16(n+1)3_8(n+1)2+8(n+1)j

3n n’ 3n
Ss:=
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limt(S.s, n=infinity);
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SR i : =Ri emannSun(f (x), x=0. .4, net hod=l eft, partition=25);
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SR _s: =Ri emannSun{( f (x), x=0. . 4, net hod=ri ght, partition=n);
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n

R s:=

limt(SR_.s, n=infinity);
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[> Credit:= "1&C, p. 116" ;



